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C:00 cV=F"
f:C 00000 (automorphism)

— f:V-—V:0000000000
fe)=c

000000000 ---Aut(C)
Aut(C) C Aut(V,d) = 6, F,*
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000000000 (Oo0)

V=(,d):00000000
f:V—Vv:000000000

«— f: 000000000000
(d(f(x), f(y)) = f(z,y))

d: Hamming 00000000

— f: 000000000000
(w(f(2)) = w(w))
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000000000 (Oo0)

V=(v,d 0000000000000
0000 ---Aut(V,d)

Aw(V,d) 000 20000000

e 0100000000
(00D0o0o0oooo)

e 1000000000
(000D0D0D00000000O0)

Auwt(V,d) = G,V F,* = &, x (F,°)"
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00 C,C'cV 000 (equivalent)
<= 3f € Aut(V,d) : C' = f(C)

gobobogd
gobobooooboboooonon
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goooogg

Aut(C) C Aut(V,d) = 6, L F,*

UdUg=200000
Aut(C) C Aut(V,d) =&,
— Jgoooooooobobobood

gogddd:
c=(12---n)eAut(C) DODO
- 0000 (cyclic code)
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0000 ¢cO 0000 (cyclic code)

<~ o0=(12 -+ n)eAut(C)

~— 0 (Co,Cl,...,Cnfl) eC
- (Cn717607 ce 7Cn72) eco
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F (o)) = F[X]/(X"-1) =R~V =F"
gooov:00 1000 R-O0O

V=F" ~ R
(1,0,...,0) e 1
(corCty.nvCpo1) o o+ 1 X 4+ 4 ¢ X7
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V:00 1000 ROO OC goon

C: 0000 «<C:00 R-OO
V~ROOOOOOOO
<= C : R O ideal

R:000 O0ODOO
I RO idealé{ eVa,bel:a+bel

eVacl VreR:racl
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c:0000

—— R=F,[X]/(X"—1) O ideal I
—— ID>(X"—1) 00 F,[X] O ideal T
(F[X]: PIDOODO JgeR:1=(g))
— g|(X"—1) 00 g€ F,[X]

X"-1eF[X]00000000
0000000000000
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gogg
X" —1=g(X)h(X) € F,[X] 0000
C:=¢gR:0000 ~F,J[X]/(h)
= {c(X) € R|WMX)e(X) =0in R}

¢g: 000000 (generator polynomial)
h: 00000 (check polynomial)

X"-1eF[X)0000000000 ?

— 0000000 Galois OO

—0000 10000000
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0000000 (0oo0o0)

mn€ Z 0000000
Z/mnZ ~ Z/mZ x Z|nZ

x mod mn e~ (x mod m, r mod n)

bn mod mn «~ (1 mod m, 0 mod n)

am mod mn «~ (0 mod m, 1 mod n)

O00O0a,beZ 0 am+bn=10000
(EucidDOD0OO)
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0000000 (000000ooon)

g.heF[X]: 0000000

Fy[X]/(gh) =~ Fy[X]/(g) x Fy[X]/(h)
fmod (gh) «~ (f mod (g), f mod (h))

bh mod (gh) «~ (1 mod (g),0 mod (h))
ag mod (gh) «~ (0 mod (g), 1 mod (h))

0000abe F[X]0 ag+bh=10000
(EucidDOO0O)
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Z/mZ : 0O (0000O0O0O000O0O)
< m=p: 00

F,=Z/pZ : p0O0O
F(X)e F[X]: 00 = FE,[X]/(F): O
deg F=f0000 #(F,[X]/(F))=p/ =:¢

FX=1(¢) (QgeFX):00 (¢—1)0000
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Frobenius OO OO 000000 Galois O
q=p/,a,be F, 0000
(a+b)P =al +b°
(ab)? = aPb?

e, F,— F,: 00000
x+— aP (FrobeniusO0 0 0 0)

op(r) = <=z € F,

Gal(Fq/Fp) = <§0p>a @pf =1
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X' -1€eFJ[X|00000

¢=2,n=(:0000000
XP-1=(X+1)(X*+ X +1)

(
X°-1=(X+D)X*"+ X3+ X2+ X +1)
X-1=X+D)XP+X+D)(X*+ X2 +1)
D =X+ D)XP 4+ X% 4+ X +1)
—1_«X+1xx + XM+ X+

=X+ )X+ X+ X X34 1)

(X8 + X"+ X0+ X+ X2+ X +1)

XY 1=(X+DXB+XT 4. 4L X 41)
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X‘-1eF[X]00000O
X8 _1=(X+1)
X"+ X+ X"+ X+ X5+ X +1)
(XM X104 X0 4 XP 4 X4 X2+ 1)
X 1=(X+D)X®+ X7+ + X +1)
XM 1= (X +1)(X°+ X2+ 1)(X° + X2 +1)
(X°+ X+ X?+ X +1)
(XP+ X'+ X2+ X +1)
(X°+ X'+ X°+ X +1)
(X + X+ X3+ X2 41)

37 4 _ 36 35 ...
X =X +1DX +—XDD5E| ID—E)D(E'D%D 18—




X‘—~1eF,[X]00000

¢=p/, 0000000 ¢: 00 #p000

(:1000¢00 €F,

X—1= l:I(X — ¢ in FX]

a=0

Oooood F, 000000000000
F, 000000000
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X‘—~1eF,[X]00000

g=p/, €:00 #p

(:1000 100 €F, F:=F,()
Gal(F/F,) = (pq), @q=¢p 10— 2t
[F': F,] =ord(¢gmod () =: ¢

1

¢*0 F,0000 : GG, G
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X‘—~1eF,[X]00000

t—1

fulX) = J](X = 6) € FlX]

(t _ ord(¢g mod ¢) in (Z/tZ)*)

X-1=(x-1) 11 fa(X)
a€F;* /{q mod £)
: F, 000000

(-1
(Xx-10:00 ——0000000)
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X‘—~1eF,[X]00000

t = ord(g mod ¢) in (Z/(Z)*
X‘—-10
(X-1)0OtO0Oo E_TlDDDDDDD

D000 (gmod ¢) = (Z/¢Z)* 0000
Xl =X+ D)X+ X2 X 1)
. F, 000000
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X' —1=g(X)h(X) € F[X]

C=(9): 0000 CV=F,[X]/(X‘—1)
¢g: 0000000 h:O00000
000 n=dimg V =

000 k=dimp,C=degh=/{—degyg
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X‘'-100000000
X' —1=g(X)h(X) € F,[X]

9(Xx) C=1(9) k| d t
1 v /

X—-1|000000 (-1 2 0

Xt—1 -1
Doo00 1|0 ]| —
X -1 { J

X1 (0) 0 |—| —
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Xt-100000000

X!~ 1= g(X)h(X) € F,[X]
C=(g): 0000 CV=F,[X]/(X'—1)

X{—1ooooooooooo
000 (@CO)0D0000000
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Xt-100000000

X!~ 1= g(X)h(X) € F,[X]
C=(g): 0000 CV=F,[X]/(X'—1)

X{—1ooooooooooo
000 (@CO)0D0000000

(gmod ¢) C (Z/tZ)*DOOOOO ¢OOOMN
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